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A steam turbine operates with 1.5 MPa and 360 °C steam at its inlet and saturated vapor at
30 OC at its exit. The mass flow rate of the steam is 22 kg/s, and the turbine produces

12,350 kW of power. Determine the rate at which heat is lost through the casing of this
turbine.

$56:0.9C
hi-3169 S
S
> C oA Jop
)= 2556.% 31K
f"/‘ = / Z \I'
Ny =12.%50 M
sal. vapor
E/\Q/\D\ bo\\w(-&- ; No \Ji" 0o P-‘r\
S oo T i no
‘\ e 2 4 » ¥ / »
(_,t',/\g-:_ kg(,\g'wf\l'F-M?{ PR J +)Id..t\?.—,"r{--; g/:,‘- Je 2 /7 ¢
S \ o TR J/t \ - %
\'E :‘J 4 > P

D":Lﬂ"“v\\) \?'F/V\l’:A/\'Z_"P;"\;

o RS ‘.Q(\9~u.\)cx}—u\'w(\’)?-%e\)
=) ul)t = (gc& + A (\f)qukngxl
= 12%50 = @ce+z.2(a169,1—255g?\

e

= (g('\} = 12350 ~13.482. 8

,,9‘('%( ¢z - 113382 W |




